2024558 HRBRIHE 19-150) SRR SN 204859 AXBEEHE (60210 USRS
1%(24% 360 40|50 |6@|7 % [8%|9x|10£|1163(12@)[13 A [14 x |15 * 16 ~ |17 £|18€3(19( |20 & (21 x |22 % |23 & |24 = [25€3|26()|27 £ |28 X |29 (30 * |31 £
q:f’!;jﬁisaa %E?ﬁfﬁ%ﬂﬂ@%@% ﬁﬁm%mgﬁﬁ tF%?%EH@% ﬁﬁﬂh@:ﬁﬂ%ﬁ_gfﬁmm b ER B 11| & H 'ﬁﬁuﬁz‘é—:ﬁﬂﬁf%
SR L ] P e izs2iar |E2|sh) S L P St llznrnrr (22w lil=sii
% 16 % R ” S % 1 % PR ~ 5o o
e R W) o |2 W) W)
EBEAN | g@ 57y fﬁﬁ %@ o f;ﬂ %3t | % 3t g@ EBBAR | FH R Eﬁ'ﬁm % ;@;ﬁﬁ g@ 57 Eﬂ‘ﬁm %% g@ i :fﬂ
TR | T8 RERAK | ) T8 T8
vmmess | HE B @ re|lEC RE|RE re|lRa| BT DEnEAY|F (0B HE re|Rs|Bf|pE/RE re|Re BC|pE/RE
BERBENR |Fo (B AR B A O B & WE R ® S K| FEl B B B A& B B
FREAR |y B FREAX | v B H
MENB | %= 1L WEAH |y = I
HLRE AR | a0 £4/l Sl E=pTINE=2] Eollllzan| zal wiesn-sn |0 |18 B |88l e S ESI E=pIINESA] SOl gan | ma & || =AN
IERE Bl E s I E s = B U VO ww| (KT RME| | AR AT (AT | ERTIR T KT
o E AR [ =5 o E AR [
g2 | M 72 KT 72 g% AT 72 KT 72
ARPDILIN | ey AR AR Y H R | B HBRADEAR | gy | R0 IR 1| B RO
BRA/BPISR | 4 ) g )1 SR N BRAR/BPINR | 44 AN AN R 1 S ANV
hom) (EA) () EA8) (RS () | (AR o) () (B | (Rt (FAH) (B (BB | (A4
_— sy |35 2R 1L eI ESE T E-JITRE-JIT 2 L eIl 721N R 7 sy | 3 W ZR L 2 1 el x7&I0| & 1L | &1L 1 (3@l x7&I0| & 1L | & 1L
WRE| KR WREIRE| T R |ZR R TR PORE|HTRE ZR|LZRE ZRCREPIRE| L R | T H ZRCREPIRE| LR | TR
samun w0 E2 E3E% £3 EXEa=n ERMERH T B A B3R EECREE g EECREE EZ
SR R | HROUS | AR FUS | US| IS | F IR US| F US| IS o Fal | RIS | IS US| H IS | US| IS | s RIS | RIS | R US| S|P
Fi IS US| IS | F IS US| US| F IS Fig | IS RIS RIS | RIS P IE RIS | R US| US| P IS
WERER | FH B A HTHER| g BA | BEA WEREH | FH HTBR e B A . NS KTHEA
Al fﬁfﬂf’* K| gar oEaws YIEA YEAK 2l %;fﬂ?’* | g AN AN
IR FE|KE|TE|TE M |5 2 | K [ R |F|FE|TE EIEEIEEEIEEIEY- IRy FE|TE
BROBAR | g oK | A #e CIE IR K| & # | A BB | |k 4| A A B I R s A A A KR R | A R R R
BB BB g 52 i F# BAHBRR | | ROE o 52 i 52
BOREAR |7 IR BDEBAK | g s
Bl |re Al HORRR BRa, | £ HORRR £ HORRR el

OB -NBDPBEDELToTENIVA. ORB. HROHEVOTHHEIL(EZS 0, SR ORRAE - AU IRSRS RIS B [l i

U -t - -
s 5 3 W C PSP e IR Ll oA ! %2 SERI(13:00-15:00) ZHEHI(13:30-15:30) %4 SIH5RI(9:30-11:30) ZMERI(10:00-1200) %6 S{4E5RI (8:30-10:00) LR (9:00-10:30)
REEF 'pE (X3 ﬁ LTI, CODBRAREIXBLOMETRIIERLLLHEHTIVITOTERLEhe (120, Ic T HEREBEV L LET, %3 BHISRI(8:30-10:30) BB (9.00-11:00) 5 SIE5EI(9:00-11:30) BRI (9:30-12:00) %7 A (8:30-11:00) 2k (9:00-11:30)




PRRAFROTEA

MBI L VUD k2 BHD
0 FF, HRDBEEIRD S
BT S,

mans

HIES&RAR

(4F &) 8:30~11:30
A~&EH X LRI - 3 - 5B

(F &) 8:30~11:30 RAEER (F#9Hl)
(F &) ANEH (GEEFHIH)
KEZMICTHER TN

BEREAR

(4F B1) 8:30~11:30 B -k - K- &EH
9:00~11:30 KHEEH

R O I & A
(ASO%} 3 / Bl 2= 1t Eh AR AE 1L 4E)

(%F 1) 9:30~11:30 XEH

FEE AR S4HK

(4F B1) 8:30~11:30 £MREH

10 i I Ak

FRERAE B2 FHH)

FER B 5

(% B0) 8:30~11:30 A~=®MEH

(%7 #) 12:30~14:00 AREH

(& 81 8:30~11:30 K - ©BH

HEAR (FHH)

Hibs® -8

i 49 2% 4

(47 ®1) 8:30~11:30 AREH(B2E)

(4F B1) 8:30~11:30 K~&HEH
XARBBIEFHOH

(F #1) 8:30~11:30
A~1HER XANBHIBHZDH

(F &) LR (FEH) E2TFHH)
(¥ #) 16:30~18:30 A - KEEH

AiR-ARBAR EE=TFHH)

Erss

BREAR/FFIAE (FHH)

(4F #1) 8:30~11:30
K~HKEEE

(4F B1) 8:30~11:30 B~%MEH
XAKEH 9:00~11:30

(% §1) 8:30~11:30

RBEEn L REH(B2E)

fkEEn 51 - 3KEH

FHARL  FE2-4-5kKEH.ZHE1-3-5KEH
BEEEA- A B2 - 4LEH

BEAR (UovF BHEBESRD)
(FH#H)

BHABENAER B2 FHH)

AR

(4 &l ABER 8:30~10:00
AEEH 8:30~11:30
X+ RNEEH

(F &) KEEH

(%F 1) 830~11:30 A - K - £EH
8:30~10:30 XBEH
8:30~11:00 kiEH

H &SRR

INRE

i PR 2 1

(% #1) 8:30~11:30 A - X - X - £#EH
XEREHIFET - 3 - 58

(% B1) 8:30~11:30 A~=MEH
(F #) 13:30~16:30 A~AKEH

(% B1) 8:30~11:30 A - XEEH
8:30~11:00 £ - LFEH

X KEBE (REH)
XOKRRE (38 B2
RISZBRAE (FH9H) RE# BRI OEAS (FHH)

(4 1) 8:30~10:30
KEH XZRICTHERETIN

(F B1) 8:30~11:30 B~%MEH

(F §1) 8:30~11:30 BA~=%EH

matRE (T2 FH0H)

IBD¥FR2 AR (REMBKE)

ERAR (E2F#H)

(% B1) 8:30~11:30 A - KEEH

(FF &) XBEH (B2E)
MR ICOHERTIW

(%F #) 13:00~15:00 A - £#EH

EREA BNE

W KIBEMELHBIE 20584-77-6110

T503-0015 Ix&RAREHMHE6T B85-1

FHEevsr—
@0584-84-2062

A~% 9:00~17:00, £ 9:00~12:30

B >

S22 2
= U

3

24N
=5 @t

A SHN FTIE

oy St

S'vc0c

= 36081 Nk

L=
=7

57 3 b



	p10_p11
	p12

